General Information	PRELIMINARY		
Name of Hospital: Northwestern Memorial Ho	espital	Medicare Provid	der Number: 14-0281
Street:	•	Medicaid Provid	
251 E. Huron City:	State:	 Zip:	3122
Chicago	Illinois		60611
Period Covered by Statement:	From:	То:	00/04/0040
Type of Control	09/01/2017		08/31/2018
Voluntary Nonprofit	Proprietary	Government (Non-Federa	1)
Church	Individual	State	Township
XXXX Corporation	Partnership	City	Hospital District
Other (Specify)	Corporation	County	Other (Specify)
Type of Hospital			
XXXX General Short-Term	Psychiatric		Cancer
General Long-Term	Rehabilitation		Other (Specify)
Health Care Program	(A Separate Report Must E	Be Filled Out For Each Distir	nct Part Unit)
Medicaid Hospital	Medicaid Sub II Rehab]
XXXX Medicaid Sub I XXXX Psych	Medicaid Sub II Other	l]
By Fine And / Or Imprisonr	ion Or Falsification Of Any Information ment Under Federal Law ADMINISTRATOR OF PROVIDER(S):	In This Cost Report May Be	Punishable
Sheet and Statement of Revenue ar for the cost report beginning 09	nd the above statement and that I have example the description of the provider name (some content of the provider in accordance). It is a support of the provider in accordance of the pro	s) and number(s)) North that to the best of my knowle	western Memorial Hospii 3122 edge and belief, it is a true, correct and
Prepared by (Signed):		Signed (Officer or A	dministrator of Provider(s)):
Nama (Timourittan)		Nama /Tittan	
Name (Typewritten) Title	Date	Name (Typewritten) Title	
Firm		Date	
Telephone Number		Telephone Number	
Email Address		Email Address	

This State Agency is requesting disclosure of information that is necessary to accomplish statutory purposes as found in Section 5 of the (305 ILCS 5/) Healthcare and Family Services Code (from Ch. 23, Par. 5). Failure to provide any information on or before the due date will result in cessation of program payments. This form has been approved by the Forms Mgt. Center.

Medicare Provider Number:	Medicaid Provider Number:
14-0281	3122
Program:	Period Covered by Statement:
Medicaid-Hospital	From: 09/01/2017 To: 08/31/2018

					Total	Percent		Number Of	Average
					Inpatient	Of	Number	Discharges	Length Of
			Total	Total	Days	Occupancy	Of	Including	Stay By
	Inpatient Statistics	Total	Bed	Private	Including	(Column 4	Admissions	Deaths	Program
Line	inpatient Statistics	Beds	Days	Room	Private	Divided By	Excluding	Excluding	Excluding
No.		Available	Available		Room Days	Column 2)	Newborn	Newborn	Newborn
NO.	Part I-Hospital			Days (3)		· · · · · · · · ·			
- 1	Adults and Pediatrics	(1) 691	(2) 248,507	(3)	(4) 190,462	(5) 76.64%	(6)	(7) 45,506	(8) 5.31
	Psych	29	10,585		10,084	95.27%		813	12.40
	Rehab	29	10,565		10,064	95.27%		013	12.40
	Other (Sub)								
	Intensive Care Unit	106	38,690		29,551	76.38%			
	Coronary Care Unit	100	30,090		29,551	70.3070			
	Special Care Nursery	86	31,390		21,840	69.58%			
	Other	80	31,390		21,040	09.56 /6			
	Other								
	Other								
	Other								
	Other								
_	Other								
	Other								
	Other								
	Other								
	Other								
	Other								
	Other								
	Newborn Nursery	114	41,610		24,019	57.72%			
	Total	1,026	370,782		275,956	74.43%		46,319	5.44
	Observation Bed Days	1,026	370,762		16,633	74.43%		46,319	5.44
20.	Observation Bed Bays				10,000				
	Part II-Program	(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)
1	Adults and Pediatrics	(1)	(2)	(5)	(+)	(3)	(0)	(1)	(0)
	Psych				578			75	7.71
	Rehab				370			73	7.71
	Other (Sub)								
	Intensive Care Unit								
	Coronary Care Unit								
	Special Care Nursery								
	Other								
	Other								
	Other								
	Other								
	Other								
	Other								
	Other								
	Other								
	Other								
	Other								
	Other								
	Other								
	Nowborn Nurcory								
	Newborn Nursery Total				578	0.21%		75	7.71

Line			
No.	Part III - Outpatient Statistics - Occasions of Service	Program	Total Hospital
1.	Total Outpatient Occasions of Service		

Hospital Statement of Cost / Apportionment of Ancillary Services to Health Care Programs PRELIMINARY

BHF Page 3

Medicare Provider Number:		Medicaid Provider Number:			
	14-0281	3122			
Program:		Period Covered by Statement:			
Medicaid-Hospital		From: 09/01/2017	To:	08/31/2018	

					Total	Total	I/P	O/P
		Total Dept.	Total Dept.		Billed I/P	Billed O/P	Expenses	Expenses
		Costs	Charges		Charges	Charges	Applicable	Applicable
		(CMS 2552-10,	(CMS 2552-10,	Ratio of	(Gross) for	(Gross) for	to Health	to Health
		W/S C,	W/S C,	Cost to	Health Care	Health Care	Care	Care
Line		*	Pt. 1,					
	Ancillant Somiles Cost Contars	Pt. 1,	-	Charges	Program	Program	Program	Program
No.	Ancillary Service Cost Centers	Col. 1)	Col. 8)*	(Col. 1 / 2)	Patients	Patients	(Col. 3 X 4)	(Col. 3 X 5)
1	Operating Room	(1) 109,013,954	(2) ####################################	(3) 0.094303	(4)	(5)	(6)	(7)
	Recovery Room	12,562,309	56,007,381	0.094303				
	Delivery and Labor Room	33,743,694	158,177,494	0.213328				
	Anesthesiology	7,231,347	120,984,457	0.059771				
	Radiology - Diagnostic	59,881,860	394,538,842	0.053771				
	Radiology - Diagnostic	19,400,584	238,910,557	0.081204				
	Nuclear Medicine	17,559,737	76,216,697	0.230392				
	Laboratory	112,814,000	872,346,362	0.230392				
	Blood	112,017,000	012,0- 1 0,002	0.120022				
	Blood - Administration	7,304,860	31,823,101	0.229546				
	Intravenous Therapy	7,004,000	01,020,101	5.225540				
	Respiratory Therapy	17,684,268	83,223,183	0.212492				
	Physical Therapy	5,778,619	15,630,046	0.369712				
	Occupational Therapy	3,345,258	7,584,881	0.441043	115,339		50,869	
	Speech Pathology	0,040,200	7,004,001	0.441040	110,000		00,000	
	EKG							
	EEG	9,087,627	65,597,409	0.138536				
	Med. / Surg. Supplies	120,589,290	251,039,378	0.480360				
	Drugs Charged to Patients	120,533,445	415,739,720	0.289925				
	Renal Dialysis	120,000,440	410,700,720	0.203323				
	Ambulance							
	Cardiac Cath Lab	5,627,134	87,585,866	0.064247				
	Cardiology Graphics	7,983,322	188,358,843	0.042384				
	Pulmonary Funcation Testing	1,302,598	17,299,562	0.075297	207		16	
	MRI	23,763,635	301,128,958	0.078915	201		10	
	Vascular Lab	2,215,516	34,529,791	0.064162				
	EPS	4,838,830	44,301,076	0.109226				
	CT Scan	12,340,936	376,874,283	0.032745				
	GI Lab	15,995,289	160,059,843	0.099933				
	Transplant Clinic	5,245,925	5,952,743	0.881262				
	Transplant Acq (Liver/Kidney/Heart/Pa	33,910,177	47,575,240	0.712769				
	OB & Psych Clinic	5,658,724	7,248,063	0.780722				
	Blood Flow Lab	16,577,993		0.357788				
	Implantable Devices		282,244,745	0.324255				
	Other	20,806,719		0.426904				
	Other	,,	,,					
	Other							
	Other							
	Other							
	Other							
	Other							
42.	Other							
	Outpatient Service Cost Centers							
43.	Clinic	18,089,379	28,105,389	0.643627				
44.	Emergency	29,371,489	280,627,351	0.104664				
	Observation - Distinct	8,063,523	19,262,552	0.418611				
46.	Total				115,546		50,885	
			•		-,		,	

^{*} If Medicare claims billed net of professional component, total hospital professional component charges must be added to CMS 2552, W/S C charges to recompute the department cost to charge ratio.

Hospital Statement of Cost / Computation of Inpatient Operating Cost

BHF Page 4

PRELIMINARY

Medicare Provider Number:	Medicaid Provider Number:			
14-0281			3122	
Program: Period Covered by Statement:				
Medicaid-Hospital	From:	09/01/2017	To:	08/31/2018

Program Inpatient Operating Cost

Line		Adults and	Sub I	Sub II	Sub III
No.	Description	Pediatrics	Psych	Rehab	Other (Sub)
1. a)	Adjusted general inpatient routine service cost (net of				
	swing bed and private room cost differential) (see instructions)	259,061,982	10,548,001		
b)	Total inpatient days including private room days				
	(CMS 2552-10, W/S S-3, Part 1, Col. 8)	207,095	10,084		
c)	Adjusted general inpatient routine service				
	cost per diem (Line 1a / 1b)	1,250.93	1,046.01		
2.	Program general inpatient routine days				
	(BHF Page 2, Part II, Col. 4)		578		
3.	Program general inpatient routine cost				
	(Line 1c X Line 2)		604,594		
4.	Average per diem private room cost differential				
	(BHF Supplement No. 1, Part II, Line 6)				
5.	Medically necessary private room days applicable				
	to the program (BHF Page 2, Pt. II, Col. 3)				
6.	Medically necessary private room cost applicable				
	to the program (Line 4 X Line 5)				
7.	Total program inpatient routine service cost				
	(Line 3 + Line 6)		604,594		

		Total Dept. Costs	Total Days (CMS 2552-10,	Average	Program Days	
Line		(CMS 2552-10,	W/S S-3,	Per Diem	(BHF Page 2,	Program Cost
No.	Description	W/S C, Pt. 1, Col. 1)	,	(Col. A / Col. B)	Part II, Col. 4)	(Col. C x Col. D)
		(A)	(B)	(C)	(D)	(E)
8.	Intensive Care Unit	61,668,412	29,551	2,086.85		
9.	Coronary Care Unit					
10.	Special Care Nursery	29,402,842	21,840	1,346.28		
11.	Other					
12.	Other					
13.	Other					
14.	Other					
15.	Other					
16.	Other					
17.	Other					
18.	Other					
19.	Other					
20.	Other					
21.	Other					
22.	Other					
23.	Nursery	7,441,694	24,019	309.83		
24.	Program inpatient ancillary care service cost					
	(BHF Page 3, Col. 6, Line 46)					50,885
25.	Total Program Inpatient Operating Costs					
	(Sum of Lines 7 through 24)					655,479

Hospital Statement of Cost Apportionment of Cost of Services Rendered by Interns and Residents Not in an Approved Teaching Program PRELIMINARY

Medicare Provider Number:	Medicaid Provider Number:			
14-0281	3122			
Program:	Period Covered by Statement:			
Medicaid-Hospital	From: 09/01/2017 To: 08/31/2018			

Line No.	Hospital Inpatient Services	Percent of Assign- able Time (CMS 2552-10, W/S D-2, Col. 1)	Expense Allocation (CMS 2552-10, W/S D-2, Col. 2) (2)	Total Days Including Private (CMS 2552-10, W/S S-3 Pt. 1, Col. 8)	Average Cost Per Day (Col. 2 / Col. 3)	Program Inpatient Days (BHF Page 2, Part II, Column 4) (5)	Program Inpatient Expenses (Col. 4 X Col. 5) (6)
1.	Total Cost of Svcs. Rendered	100%					
2.	Adults and Pediatrics						
	(General Service Care)						
3.	Psych						
	Rehab						
5.	Other (Sub)						
6.	Intensive Care Unit						
7.	Coronary Care Unit						
8.	Special Care Nursery						
9.	Other						
10.	Other						
11.	Other						
	Other						
	Other						
14.	Other						
	Other						
	Other						
	Other						
	Other						
19.	Other						
20.	Other						
	Nursery						
22.	Subtotal Inpatient Care Svcs. (Lines 2 through 21)						

Line No.	Hospital Outpatient Services	Percent of Assign- able Time (CMS 2552-10, W/S D-2, Col. 1) (1)	Expense Alloca- tion (CMS 2552-10, W/S D-2, Col. 2)	Total Dept. Charges (CMS 2552-10, W/S C, Pt.1, Lines 88-93) (3)	Ratio of Cost to Charges (Col. 2 / Col. 3)	(BHF F	Charges Page 3, ines 43-45) Outpatient (5B)	•	Expenses cols. 5A-B) Outpatient (6B)
23	Clinic	(- /	(-)	(0)	(- /	(0).)	(02)	(0.1)	(02)
	Emergency								
	Observation - Distinct								
26.	Subtotal Outpatient Care Svcs. (Lines 23 through 25)								
27.	Total (Sum of Lines 22 and 26)								

$\label{lem:hospital-Based Physician Expense} \textbf{Hospital - Based Physician Expense}$

BHF Page 6(a)

PREI	IMIN	ARY

Medicare Provider Number:		Medicaid	Provider Number:		
	14-0281			3122	
Program:		Period Co	vered by Statement:		
Medicaid-Hospital		From:	09/01/2017	To:	08/31/2018

		1			T			
			Total Dept.	Ratio of	Inpatient	Outpatient	Inpatient	Outpatient
		Professional	Charges	Professional	Program	Program	Program	Program
		Component	(CMS 2552-10,	Component	Charges	Charges	Expenses	Expenses
		(CMS 2552-10,	w/s c,	to Charges	(BHF	(BHF	for H B P	for H B P
Line	Cost Centers	W/S A-8-2,	Pt. 1,	(Col. 1 /	Page 3,	Page 3,	(Col. 3 X	(Col. 3 X
No.		Col. 4)	Col. 8)*	Col. 2)	Col. 4)	Col. 5)	Col. 4)	Col. 5)
-	Inpatient Ancillary Cost Centers	(1)	(2)	(3)	(4)	(5)	(6)	(7)
	Operating Room							
	Recovery Room							
	Delivery and Labor Room							
4.	Anesthesiology							
	Radiology - Diagnostic							
	Radiology - Therapeutic							
7.	Nuclear Medicine							
8.	Laboratory							
	Blood							
10.	Blood - Administration							
11.	Intravenous Therapy							
12.	Respiratory Therapy							
13.	Physical Therapy							
14.	Occupational Therapy							
15.	Speech Pathology							
	EKG							
	EEG							
18.	Med. / Surg. Supplies							
	Drugs Charged to Patients							
	Renal Dialysis							
	Ambulance							
22.	Cardiac Cath Lab							
23.	Cardiology Graphics							
	Pulmonary Funcation Testing							
	MRI							
26.	Vascular Lab							
	EPS							
	CT Scan							
	GI Lab							
	Transplant Clinic							
	Transplant Acq (Liver/Kidney/Heart/Par							
	OB & Psych Clinic							
	Blood Flow Lab			İ				
	Implantable Devices			İ				
	Other							
	Other			İ				
	Other			İ				
	Other							
	Other			İ				
	Other							
	Other							
	Other			İ				
	Outpatient Ancillary Cost Centers							
43	Clinic							
	Emergency							
	Observation - Distinct				1			
	Ancillary Total							
∓ 0.	ury rotar		l		1	t .	1	

^{*} If Medicare claims billed net of professional component, total hospital professional component charges must be added to W/S C charges to recompute the professional component to total charge ratio.

Hospital Statement of Cost / Analysis of Hospital - Based Physician Expense

BHF Page 6(b)

Medicare Provider Number:		Medicaid Pr	rovider Number:		
	14-0281			3122	
Program:		Period Cove	ered by Statement:		
Medicaid-Hospital		From:	09/01/2017	To:	08/31/2018

Line No.	Cost Centers	Professional Component (CMS 2552-10, W/S A-8-2, Col. 4)	W/S S-3 Pt. 1, Col. 8)	Professional Component Cost Per Diem (Col. 1 / Col. 2)	Program Days Including Private (BHF Pg. 2 Pt. II, Col. 4)	Outpatient Program Charges (BHF Page 3, Col. 5)	Inpatient Program Expenses for H B P (Col. 3 X Col. 4)	Outpatient Program Expenses for H B P (Col. 3 X Col. 5)
	Routine Service Cost Centers	(1)	(2)	(3)	(4)	(5)	(6)	(7)
	Adults and Pediatrics							
	Psych							
49.	Rehab							
	Other (Sub)							
	Intensive Care Unit							
52.	Coronary Care Unit							
53.	Special Care Nursery							
54.	Other							
55.	Other							
56.	Other							
57.	Other							
58.	Other							
59.	Other							
60.	Other							
61.	Other							
62.	Other							
63.	Other							
64.	Other							
65.	Other							
	Nursery							
67.	Routine Total (lines 47-66)							
68.	Ancillary Total (from line 46)							
	Total (Lines 67-68)							

Rev. 10 / 11

Computation of Lesser of Reasonable Cost or Customary Charges

PREI	IMIN	ARV

Medi	care Provider Number:	Medicai	d Provider Number:		
	14-0281			3122	
Prog	ram:	Period Covered by Statement:			
	Medicaid-Hospital	From:	09/01/2017	To:	08/31/2018
Line			Program	I	Program
No.	Reasonable Cost		Inpatient		Outpatient
			(1)		(2)
1.	Ancillary Services				
	(BHF Page 3, Line 46, Col. 7)				
2.	Inpatient Operating Services				
	(BHF Page 4, Line 25)		655,	,479	
3.	Interns and Residents Not in an Approved Teaching				
	Program (BHF Page 5, Line 27, Cols. 6a and 6b)				
4.	Hospital Based Physician Services				
	(BHF Page 6, Line 69, Cols. 6 & 7)				
5.	Services of Teaching Physicians				
	(BHF Supplement No. 1, Part 1C, Lines 7 and 8)				
6.	Graduate Medical Education				
	(BHF Supplement No. 2, Cols. 6 and 7, Line 69)		122,	,255	
7.	Total Reasonable Cost of Covered Services				
	(Sum of Lines 1 through 6)		777,	,734	
8.	Ratio of Inpatient and Outpatient Cost to Total Cost				
	(Line 7 Divided by Sum of Line 7, Cols. 1 and 2)		100.	.00%	

Line	Customary Charges	Program Inpatient	Program Outpatient
No.		(1)	(2)
9.	Ancillary Services		
	(See Instructions)	115,546	
10.	Inpatient Routine Services		
	(Provider's Records)		
	A. Adults and Pediatrics		
	B. Psych	1,898,832	
	C. Rehab		
	D. Other (Sub)		
	E. Intensive Care Unit		
	F. Coronary Care Unit		
	G. Special Care Nursery		
	H. Other		
	I. Other		
	J. Other		
	K. Other		
	L. Other		
	M. Other		
	N. Other		
	O. Other		
	P. Other		
	Q. Other		
	R. Other		
	S. Other		
	T. Nursery		
11.	Services of Teaching Physicians		
	(Provider's Records)		
12.	Total Charges for Patient Services		
	(Sum of Lines 9 through 11)	2,014,378	
13.	Excess of Customary Charges Over Reasonable Cost	, ,	
	(Line 12 Minus Line 7, Sum of Cols. 1 through 2)		1,236,644
14.	Excess of Reasonable Cost Over Customary Charges		,,-
	(Line 7, Sum of Cols. 1 through 2, Minus Line 12)		
15.	Excess Reasonable Cost Applicable to Inpatient and Outpatient		
	(Line 8, Each Column X Line 14)		

PRELIMINARY

Medicare Provider Number:	Medicaid Provider Number:				
14-0281	3122				
Program:	Period Covered by Statement:				
Medicaid-Hospital	From: 09/01/2017 To: 08/31/2018				

Line No.	Allowable Cost	Program Inpatient (1)	Program Outpatient (2)
1.	Total Reasonable Cost of Covered Services	(-)	(-)
	(BHF Page 7, Line 7, Cols. 1 & 2)	777,734	
2.	Excess Reasonable Cost		
	(BHF Page 7, Line 15, Columns 1 & 2)		
3.	Total Current Cost Reporting Period Cost		
	(Line 1 Minus Line 2)	777,734	
4.	Recovery of Excess Reasonable Cost Under		
	Lower of Cost or Charges		
	(BHF Page 9, Part III, Line 4, Cols. 2B & 3B)		
5.	Protested Amounts (Nonallowable Cost Items)		
	In Accordance With CMS Pub. 15-II, Ch. 1, Sec. 115.2		
6.	Total Allowable Cost		
	(Sum of Lines 3 and 4, Plus or Minus Line 5)	777,734	

Line No.	Total Amount Received / Receivable	Program Inpatient (1)	Program Outpatient (2)
7.	Amount Received / Receivable From:		
	A. State Agency		
	B. Other (Patients and Third Party Payors)		
8.	Total Amount Received / Receivable		
	(Sum of Lines 7A and 7B)		
9.	Balance Due Provider / (State Agency) *		
	(Line 6 Minus Line 8)		

 $^{^{\}star}$ Line 9 DOES NOT APPLY to the Medicaid program.

Rev. 10 / 11

PRELIMINARY

Medicare Provider Number:		Medicaid Provider Number:				
	14-0281			3122		
Program:		Period Cove	ered by Statement:			
Medicaid-Hospital		From:	09/01/2017		To:	08/31/2018

Part I - Computation of Recovery of Excess Reasonable Cost Under Lower of Cost or Charges

Line	(· · · · · ·) · · · · · · · · · · · ·			
No.	3			
1.	Excess of Customary Charges Over Reasonable Cost			
	(BHF Page 7, Line 13)	1,236,644		
2.	Carry Over of Excess Reasonable Cost			
	(Must Equal Part II, Line 1, Col. 5)			
3.	Recovery of Excess Reasonable Cost			
	(Lesser of Line 1 or 2)			

Part II - Computation of Carry Over of Excess Reasonable Cost Under Lower of Cost or Charges

		Prior	Cost Reporting Period	d Ended	Current Cost Reporting Period (4)	Sum of
Line No.	Description	to	to	to		Columns 1 - 4
		(1)	(2)	(3)	(4)	(5)
	Carry Over - Beginning of Current Period					
	Recovery of Excess Reasonable Cost (Part I, Line 3)					
	Excess Reasonable Cost - Current Period (BHF Page 7, Line 14)					
	Carry Over - End of Current Period (Line 1 Minus Line 2 or Plus Line 3)					

Part III - Allocation of Recovered Excess Reasonable Cost Under Lower of Cost or Charges

		Total (Part II,	Inpatient		Outpatient	
Line	Description	Cols. 1-3,		Amount		Amount
No.		Line 2)	Ratio	(Col. 1x2A)	Ratio	(Col. 1x3A)
		(1)	(2A)	(2B)	(3A)	(3B)
1.	Cost Report Period					
	ended					
2.	Cost Report Period					
	ended					
3.	Cost Report Period					
	ended					
4.	Total					
	(Sum of Lines 1 - 3)					

BHF Supplement No. 1

Teaching Physicians / Routine Services Questionnaire

PREI	IMIN	ARY
INEL	TITATIT.	MINI

Medicare Provider Number:	Medicaid Provider Number:
14-0281	3122
Program:	Period Covered by Statement:
Medicaid-Hospital	From: 09/01/2017 To: 08/31/2018

Part I - Apportionment of Cost for the Services of Teaching Physicians

Part A. Cost of Physicians Direct Medical and Surgical Services

1.	Physicians on hospital staff average per diem	
	(CMS 2552-10, Supplemental W/S D-5, Part II, Col. 1, Line 3)	
2.	Physicians on medical school faculty average per diem	
	(CMS 2552-10, Supplemental W/S D-5, Part II, Col. 2, Line 3)	
3.	Total Per Diem	
	(Line 1 Plus Line 2)	

		General	Sub I	Sub II	Sub III
	Part B. Program Data	Service	Psych	Rehab	Other (Sub)
4.	Program inpatient days				
	(BHF Page 2, Part II, Column 4)				
5.	Program outpatient occasions of service				
	(BHF Page 2, Part III, Line 1)				

Part C. Program Cost	General Service	Sub I Psych	Sub II Rehab	Sub III Other (Sub)
6. Program inpatient cost (Line 4 X Line 3) (to BHF Page 7, Col. 1, Line 5)				
7. Program outpatient cost (Line 5 X Line 3) (to BHF Page 7, Col. 2, Line 5)				

Part II - Routine Services Questionnaire

1.	Gross Routine Revenues	Adults and	Sub I	Sub II	Sub III
		Pediatrics	Psych	Rehab	Other (Sub)
	(A) General inpatient routine service charges (Excluding swing				
	bed charges) (CMS 2552-10, W/S D - 1, Part I, Line 28)				
	(B) Routine general care semi-private room charges (Excluding				
	swing bed charges)(CMS 2552-10, W/S D - 1, Part I, Line 30)				
	(C) Private room charges				
	(A Minus B) or (CMS 2552-10, W/S D-1, Part 1, Line 29)				
2.	Routine Days				
	(A) Semi-private general care days				
	(CMS 2552-10, W/S D - 1, Part I, Line 4)				
	(B) Private room days				
	(CMS 2552-10, W/S D - 1, Part I, Line 3)				
3.	Private room charge per diem				
	(1C Divided by 2B) or (CMS 2552-10, W/S D-1, Part 1, Line 32)				
4.	Semi-private room charge per diem				
	(1B Divided by 2A) or (CMS 2552-10, W/S D-1, Part 1, Line 33)				
5.	Private room charge differential per diem				
	(Line 3 Minus Line 4) or (CMS 2552-10, W/S D-1, Part 1, Line 34)				
6.	Private room cost differential (To BHF Page 4, Line 4)				
	((Line 5 X (CMS 2552-10, W/S D-1, Part I, Line 27)				
	Divided by (Line 1A Above))				
7.	Private room cost differential adjustment				
	(Line 2B X Line 6)				
8.	General inpatient routine service cost (net of swing bed and				
	private room cost differential)				
	(CMS 2552-10, W/S D-1, Part I, Line 37)				
9.	Adjusted general inpatient routine service cost per diem (Line 8				
	Divided by the Sum of Lines 2A + 2B) (to BHF Page 4, Line 1c)				

PRELIMINARY

Medicare Provider Number:	Medicaid Provid	Medicaid Provider Number:			
14-0281			3122		
Program:	Period Covered	by Statement:			
Medicaid-Hospital	From: 09	/01/2017	To:	08/31/2018	

	_		Total Dept.	Ratio of	Inpatient	Outpatient	Inpatient	Outpatient
		GME	Charges	G M E	Program	Program	Program	Program
		Cost	(CMS 2552-10,	Cost	Charges	Charges	Expenses	Expenses
		(CMS 2552-10,	W/S C,	to Charges	(BHF	(BHF	for G M E	for G M E
Line	Cost Centers	W/S B, Pt. 1,	Pt. 1,	(Col. 1 /	Page 3,	Page 3,	(Col. 3 X	(Col. 3 X
No.		Col. 25)	Col. 8)*	Col. 2)	Col. 4)	Col. 5)	Col. 4)	Col. 5)
	Inpatient Ancillary Centers	(1)	(2)	(3)	(4)	(5)	(6)	(7)
1.	Operating Room	17,444,581	############	0.015090	, ,	, ,	, ,	, ,
2.	Recovery Room	808,273	56,007,381	0.014432				
3.	Delivery and Labor Room	2,879,964	158,177,494	0.018207				
4.	Anesthesiology	117,710	120,984,457	0.000973				
5.	Radiology - Diagnostic	5,289,090	394,538,842	0.013406				
6.	Radiology - Therapeutic	1,687,172	238,910,557	0.007062				
7.	Nuclear Medicine	227,572	76,216,697	0.002986				
	Laboratory	4,308,176	872,346,362	0.004939				
	Blood							
	Blood - Administration							
	Intravenous Therapy							
	Respiratory Therapy	227,572	83,223,183	0.002734				
	Physical Therapy	15,694	15,630,046	0.001004				
	Occupational Therapy	23,542	7,584,881	0.003104	115,339		358	
	Speech Pathology							
	EKG							
	EEG	400.005	054 000 070	0.000750				
	Med. / Surg. Supplies	188,335	251,039,378	0.000750				
	Drugs Charged to Patients	7,848	415,739,720	0.000019				
	Renal Dialysis Ambulance							
	Cardiac Cath Lab	455 445	07 505 000	0.005197				
	Cardiology Graphics	455,145 698,411	87,585,866 188,358,843	0.003708				
	Pulmonary Funcation Testing	258,961	17,299,562	0.003708	207		3	
	MRI	230,901	17,299,302	0.014909	201		3	
	Vascular Lab							
	EPS							
	CT Scan							
	GI Lab	439,449	160,059,843	0.002746				
	Transplant Clinic	392,366	5,952,743	0.065913				
	Transplant Acq (Liver/Kidney/Heart/P	,	0,002,110	0.000010				
	OB & Psych Clinic	392,366	7,248,063	0.054134				
	Blood Flow Lab	329,588	46,334,623	0.007113				
34.	Implantable Devices	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	.,,.					
	Other							
	Other							
37.	Other							
38.	Other							
39.	Other							
40.	Other							
41.	Other							
42.	Other							
	Outpatient Ancillary Centers							
	Clinic	2,573,919	28,105,389	0.091581				
	Emergency	2,401,278	280,627,351	0.008557				
	Observation - Distinct							
46.	Ancillary Total						361	

^{*} If Medicare claims billed net of professional component, total hospital professional component charges must be added to W/S C charges to recompute the G M E cost to total charge ratio.

Hospital Statement of Cost / Graduate Medical Education Expense

BHF Supplement No. 2(b)

PRELIMINARY

Medicare Provider Number:	Medicaid Provider Number:					
14-0281	3122					
Program:	Period Covered by Statement:					
Medicaid-Hospital	From: 09/01/2017 To: 08/31/2018					

Line No.	Cost Centers Routine Service Cost Centers	G M E Cost (CMS 2552-10, W/S B, Pt. 1, Col. 25)	Total Days Including Private (CMS 2552-10, W/S S-3, Pt. 1, Col. 8)	GME Cost Per Diem (Col. 1 / Col. 2)	Program Days Including Private (BHF Pg. 2 Pt. II, Col. 4)	Outpatient Program Charges (BHF Page 3, Col. 5)	Inpatient Program Expenses for G M E (Col. 3 X Col. 4)	Outpatient Program Expenses for G M E (Col. 3 X Col. 5)
47.	Adults and Pediatrics	18,111,603	207,095	87.46	, ,		, ,	
	Psych	2,126,623	10,084	210.89	578		121,894	
	Rehab		,				,	
50.	Other (Sub)							
51.	Intensive Care Unit	7,682,521	29,551	259.97				
52.	Coronary Care Unit							
53.	Special Care Nursery	423,755	21,840	19.40				
54.	Other							
55.	Other							
56.	Other							
57.	Other							
58.	Other							
59.	Other							
60.	Other							
61.	Other							
62.	Other							
63.	Other			-				
64.	Other			-				
65.	Other			-				
	Nursery			-				
67.	Routine Total (lines 47-66)						121,894	
	Ancillary Total (from line 46)						361	-
69.	Total (Lines 67-68)						122,255	

Hospital Statement of Cost Reconciliation of Patient Days and Revenue

PRFI	IMIN	ΔRV

Medicare Provider Number:	Medicaid Provider Number:				
14-0281	3122				
Program:	Period Covered by Statement:				
Medicaid-Hospital	From: 09/01/2017 To: 08/31/2018				

Inpatient Reconciliation	Provider's Records	Adjustments	Audited Cost Report
Adult Days	578		578
Newborn Days			
Total Inpatient Revenue	2,014,378		2,014,378
Ancillary Revenue	115,546		115,546
Routine Revenue	1,898,832		1,898,832
Inpatient Received and Receivable			
Outpatient Reconciliation			
Outpatient Occasions of Service			
Total Outpatient Revenue			
Outpatient Received and Receivable			
Notes:			
BHF Page 3 Costs were adjusted to filed W/S C, Pt 1, Col 1.			
GME Costs were adjusted to filed W/S B, Pt 1, Col 25.			
Blood on BHF Page 3 is reclassified as Blood Flow Lab to agr	ee with prior year.		
Included Observation Beds (Non-Distinct)	, ,		